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Opportunities and Challenges of Human Investment and its Role in 

the Economic Development of Selected Arab Countries 
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Opportunities given for the Arab economy in order to guide investments in the 
human capital component are numerous, but there are many challenges that 
the economy face affecting the economic and social development where the 
spending on education, training, health rehabilitation and scientific research is 
considered an investment expenditure increasing efficiency  and improvement 
of the of the human component function in the production process. In order to 
clarify that, the research adopted three sections. The first section contains 
conceptual introduction to the human investment. The second section 
expresses the size of the investment in human capital components of the 
research sample. The third section, through the use of standard analysis, shows 
the impact of these components on the total national production as an indicator 
of economic growth and development of each State individually of the selected 
Arab countries in this research, namely, (Jordan. Algeria. Saudi Arabia. Egypt) 
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1999D

2006 
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� �


� ���

��
��



1995 1996 1997 1998 1999 2000 2001

2002

2003 2004 2005 2006 

)��@�

4.46 4.44

4.24 5.32 5.20 5.07 4.94

4.82

4.69 4.57 4.60 5.47 

�W�\O��

29.93 29.20 28.33 35.17 34.40 33.67 32.91 32.25 31.45 30.68

33.29

32.91 

���C/5��

18.96 18.54 18.14 22.53 21.98 21.49 20.98 20.47 19.90 19.40 23.68 23.12 

��#

59.44 58.23 57.07 68.65 67.31 65.99 64.65 63.31 61.99 60.71 71.35 70.00 
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�),B�W3�%���K�)1��
���)����������XY3oj����2���?�&*>��a��
�1995����rj����)1��
���)��������1�N �I��[��A>����9�����=3K��T3�A�#2003���
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��
��

d9B3�����������������������������������������������������������������Z�r�\�A�)1��$���)~,B���������#�H�9�����)
2�Z6 �j�24�\������
��



1995

1996 1997 1998 1999 2000 2001

2002

2003 2004 2005 2006 

)��@�

18.5 13.5 11.5 11.2 10.2 10.8 10.5 9.1 10.1 9.3 7.6 6.3 

�W�\O��

47.1

38 37 35.3 34.6 31.6 30.2 31.1 30.2 30.1 27.9 20.39 

���C/5��

25.3 24.5 25.6 25.1 24.7 23.8 30.8 16.9 17.1 17.1 19.6 15.5 

��#

52.9 47.7 46.5 44.3 44.7 44.7 44 28

44.4 25.3 40.8 29.4 
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��&�����k����1�N�����%�&�����������������'��

��*������#�$��Z2002j�2006\��
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��

� ���



1995 1996 1997 1998 1999 2000 2001

2002

2003 2004 2005 2006 

)��@�

73 73 73 74 75 73 73 74 75 74 74 74 

�W�\O��

60 76 78 78 79 79 78 74 74 75 74 75 

��C/5��

50 54 58 58 59 59 71 72 75 78 79 80 

��#

66

77 77 77 77 77 74 76 75 73 74 77 



1995 1996 1997 1998 1999 2000 2001

2002

2003 2004 2005 2006 







)��@�



16 17.2 17.8 19.2

19.8

20.6 20.6 20.6 21.17 22.5

20.6 21 

�W�\O��




12.1 24 24

24 24 24 24 24 24 24 25.3 27.6 
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�H���������,A>�V�$����
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��

��&���kwji����<2A��������2���?�&*>��a��
1999��oj�)1��
���)��������1�N ��/�V�$���[��A>����9�����=3K��T3�A�#2005�rj��*������#�$����%�&�'����1�N����Z20050�2006\��
��
��
��
��
��
��

�d9B3�Zs�\��V�$���H�,A>��g��83Z���0%����B3��
��




���C/5��



17.2 18.3 19.1 19.3 19.8 20.5

20.5 20.5 20.5 20.5 27.6 27.5 

��#





9.16 9.16 9.16 9.16 9.16 9.16 9.16 9.16 9.16 12.7 12.3 12.5 



1995 1996 1997 1998 1999 2000 2001

2002

2003 2004 2005 2006 
)��@�





7.529 7.654 8.216 8.698 9.654 10.721 11.226 11.575

12.404 13.966 14.578 15.888 

�W�\O��




43.943 43.256 44.325 45.369 43.32 43.104 47.149 51.342 58.161 72.022 76.532 83.829 
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����������������������������������������������������������&�����i����1�N�����*������#�$����%�&�'Z 2001j2006\� ��
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d9B3�Z���\������>���B9����T �����:3�=�B$����GB��H�,A>��)
2A��

���C/5�




105.68
6



1.9.165 125.39
8 

138.68
1 

146.37
9 

153.31
3 

154.29
6 

155.94
9 

167.58
3 

180.98
7 

193.53

199.803 

��#





54.348 61.358 70.325 83.659 91.354 104.34
5 

94.664 87.867 83.642 78.783 98.321 105.400 



1995 1996 1997 1998 1999 2000 2001

2002

2003 2004 2005 2006 

)��@�




8 4.6 4.6 4.6 4.6 4.6 4.6 4.6 6.3 7 8 8 

�W�\O��



5.1 5.1 5.1 5.1 5.1 5.1 5.1 5.1 5.1 5.1 5.1 5.1 

���C/5��

5.8 5.8 5.8 5.8 5.8 5.8 6.5 6.5 6.5 7.3 8 8.5 

��#




3.9 3.9 3.9 3.9 3.9 3.9 3.9 3.9 3.9 4.1 4.1 4.1 
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����������&�����i��*������#�$����%�&�'����1�N���2006 

��
��
��
��
��
��

�������������������������������������������������������������d9B3����Z�y�\�������>���B9����T ����Z��0%����B3\��
��

��
������������������&���k���*������#�$����%�&�'����1�N���Z2000�j2006\��



1995 1996 1997 1998 1999 2000 2001

2002

2003 2004 2005 2006 

)��@�



11.514 10.159 9.559 8.974 8.261 8.134 7.914 7.246 6.928 6.650 14.257 12.711 

�W�\O��


84.7991 68.017

56.947

55.181 54.790 48.640 48.187 48.177 46.942 42.046 116.460 102.835 

���C/5��

250.558

214.859 188.802 183.256 188.692 161.172 145.967 164.993 157.743 142.457 348.672 315.336 

��#



78.491 81.495

84.214 90.284 97.955 90.603 84.828 75.897 67.629 60.159 107.377 89.528 
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d9B3Z�q�\����8����B9����T �����:3�F1������GB��H�,A>��)
2A��
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wj�)1��
���)��������1�N ��/��[��A>����9�����=3K��T3�A�#2002I���
oj�F1���B���#�$����4$����/^1�<��/A��A���GB��c'�3��^org.aitrs.www://http/������������

��
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1995 1996 1997 1998 1999 2000 2001

2002

2003 2004 2005 2006 

)��@�

1.3 1.4 1.3 1.5 1.7 2.1 2.1 2.1 2.1 2.1 2 2.1 

�W�\O��

1 1.1 1.1 1.1 1.1 1.2 1.2 1.2 1.2 1.2 1.2 1.2 

���C/5��

2 2.2 2.2 2.2 2.2 2.2 2.2 2.2 2.2 2.2

2.5

2.6 

��#

0.9 0.9 0.9 0.9 0.9 1 1 1 1 1 1.1 1.2 
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���&����i�)�#�$����0�������=<9������%.�T3�A�#org.pogar.www  
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d9B3Z�wp�\������>���B9����T �����:3��1�f���0�C9
���GB��H�,A>��)
2A��



1995 1996 1997 1998 1999 2000 2001

2002

2003 2004 2005 2006 

)��@�

4.3 4.5 4.5 4.5 4.5 4.5 4.5 4.3 4.2 4.7 4.9 5.1 

�W�\O��

2.5 2.5 2.5 2.5 2.5 3.1 3.1 3.2 3.3 2.6 2.6 2.8 

���C/5��

2.1 2.1 2.1 2.8 3.2 3.4 3.4 3.3 3 2.5 2.5 2.5 

��#

1.3 1.5 1.7 1.8 2 2 1.9 1.8 2.5 2.2 3.8 4.2





1995 1996 1997 1998 1999 2000 2001

2002

2003 2004 2005 2006 
)��@�

0.3 0.3 0.3 0.3 0.3 0.3 0.8 0.8 0.3 0.3 0.3 0.3 
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���&����i��
wj ��1%�&�'���)��������1�N �/��[��A>����9�����=3K��T3�A�#2003I���
oj �=<9������%.�T3�A�#)�#�$����0������/^A��A���GB��c'�3�www.pogar.org/Arabic��� ���
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��
��
��

d9B3�Z�ww�\��)�B$���������$���D	�1Z-��B3\��

�W�\O��

0.01 0.01 0.01 0.01 0.01 0.01 0.01 0.01 0.01 0.01 0.01 0.01 

���C/5��

1.4 1.4 1.4 1.4 1.4 1.4 1.4 1.4 1.4 1.4 1.4 1.4 

��#

0.19 0.19 0.19 0.19 0.19 0.19 0.2 0.19 0.2 0.2 0.19 0.2 



1995 1996  1997 1998 1999 2000 2001

2002

2003 2004 2005 2006 








)��@�



0.127 0.129 
  

0.130 0.132 0.134 0.139 1.450 1.490 1.560 1.650 1.660 1.690 






�W�\O��



9.370 9.369 
  

9.364 10.113 10.366 10.746 11.167 11.600 12.034 12.158 12.449 12.364 





�C/5;;;;��
��



5.370 5.698 
  

5.937 6.125 6.370 6.430 6.712 6.762 6.985 7.184 8.078 8.108 








��#



17.984 18.23
2  

18.697 18.984 19.124 19.573 19.854 20.362 12.190 12.251 22.057

22.199 
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d9B3�Z�wo�\��)�B$�3���"�������$���D	�1Z-��B3\��

����������������������������� ����&����id#�2�����&�����,A��
��
��
��
��



1995 1996 1997 1998 1999 2000 2001

2002

2003 2004 2005 2006 

)��@�




0.149 0.150 0.152 0.154 0.154 0.154 0.153 0.183 0.172 0.198 0.249 0.159 

�W�\O��



0.298 0.304 0.314 0.327 0.320 0.333 0.354 0.385 0.412 0.417 0.463 0.638 

���C/5��

0.241 0.250 0.263 0.261 0.265 0.282 0.225 0.150 0.434 0.446 0.434 0.559 

��#


0.390 0.412 0.470 0.485 0.463 0.448 0.462 0.750 0.488 0.874 0.554 0.782 
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���&�������������������������������������������������i��#�$����N����H0���v��3�'���#�2*�/�������2B�2000�j2006 
��
��



1995 1996 1997 1998 1999 2000 2001

2002

2003 2004 2005 2006 







)��@�



6.325 6.569 6.851 7.726 7.831 8.791 9.292 9.443 10.164 11.679 13.174 14.534 








�W�\O��



28.365 31.777 32.769 35.085 33.231 30.219 31.199 33.741 37.501 44.628 46.546 50.141 





���C/5��



27.354 28.546 30.194 32.724 34.031 35.260 34.558 37.095 42.525 45.410 56.331 62.475 

��#






10.325 11.234 13.759 18.240 19.587 19.472 17.779 15.329 13.699 13.316 16.093 20.111 


